Wybrane zagadnienia fizyki matematycznej

Rozwiaz rownania:

- W b=

o

10.
11.

12.

13.

© ® N o

y' +y -2y =da,

3y" =2y —y =2’

y" — 2y +2y =2cosx +sinz,
Y — 2y = A%,

y" — 8y =0,

Yy —2y" — 3y’ + 10y = 0,

y(4) + 4y/// + 6y// + 4,7/ +y=0,

Zestaw 3 (réwnania rézniczkowe)

14. W 4 2xy = a:e_’“'2,

dx
15. 9 — 20 = (g 4 1)3,
16. % + o5 = 1322’
17. x%—2y:m+1,
18. xQZ—Z—nyz&

ds _ 3,2
19. 2052 —y = 527,

20. W 4 ycosx = 1 sin 2,

y'+y" =u, =

Y — 3y + 3y — y = 27, 21. %COSJ}—ySiDJ):COSQl‘.

VY o +y = a® + 3% + 62+ 6. 22. 2(z —2y+1)+ (ba —y—4) % =0,
G = 2y, 23. 3y — T+ 7+ (Ty — 3z — 4)% =0,
%:ﬁyv 24.x—3y+2+(31;—y—2)%:0,
%_39227 25. (2y—z+1)%:y—2$—1.



